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a=9, b=1
La+b=9+1=10
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3. (2x+1)(B5x+A)=10x>+ Bx-2 4 W), A+ B & F2?

®-0 @-5 @1 @1 ® 5

(2x + 1)(5x + A) = 104> + Bx - 2914 A x 1 = -2, WtA
A=-2 B=2A+5=10°]t},
L A+B=-1
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O 32+ Tx+2 @ x24+3x+2
@x2—5x+6 ® 2x2+3x-2

® 2x24+7x+6

B

D3x2+7x+2=Bx+1)(x+2)
@x+3x+2=(x+1)(x+2)
® 2x% + Tx+6 = (2x + 3)(x + 2)
@ x?—5x+6=(x-2)(x-3)
®2x?+3x-2=(x+2)(2x-1)
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x*-=10x-75= x>+ (5- B)x— 5B
5-B=10, ..B=15
L A=-3B=-75




=207 —x—-15 Y RIFE BF N2HY

@2x+5 (@)x—3

@ 2x-5 ® 2x+3
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28X (30 4+ a) = 302 —a® = b

O 890 @ 892 @ 894 @896

® 898

28 X (30 +a) = 302 —a® = (30 — a)(30 + a)
30—a=28, a=2
b =302 -a%=30%-2%2 =896
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10, (x-49)(x-2)(x+1)(x+3)-25 =Ax* + Bx* + Cx*> + Dx + E¥
™, A+ B+ C+D+ E?2| gk& FoHH?

@ -2 (@)—1 ® 0 @ 1 ® 2

S5 ~
(x-4)(x-2)(x+1)(x+3)-25
={(x—4)(x+)H(x-2)(x+ 1)} -25
=2 -x-12)(x*-x-2)-25
x?—x =12 A &sto] F2stA (1-12)(r-2)-25 = 2 - 14¢-1
X2 —x=1t= YU H x* — 243 + x2 — 14x2 + 1dx—1 = x* -
2x3 —13x% + 14x -1
2t A+B+C+D+E=1-2-13+14-1= —10°]|t}.
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X2 4+8+124+k=0
(x+4)%2=0
k=4
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TOVL‘l /l]n ?__TT':OH%H

@ 3x% 4 18x+27 = 3(x+[ )2

@ 9x2 - 24x +16 = (__|x—4)?

@ 222 -72=2(x+6)(x-2x[ )
@ 6x2-17x+12 = (2x—-[ (3x-4)

@x2 -20x+91 = (x—7)(x—D)
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o, §1 2ol &

@® 3(x®2 +6x+9) =3(x+3)?
[ ]=3

@ (3x-4)?

[ ]=3

® 2(x* - 36) = 2(x + 6)(x — 6)
2x[ |=6, ~[ ]=3
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(x-1)2%-4(x-1)-12
={(x-1) -6} {(x-1) +2}

= (x=T)(x+1)

b T 20 FEQI Q14 x + 1 o|t},
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Q@ a © a-b © a+b
® 2a-b © 2a+2b ® 2a-3b
®© e @ 6,60 ®eo
@a.0 0 60 ©0

2a3 — a*b — 3ab® = a(2a* - ab — 3b?)
= a(2a - 3b)(a+b)
etA Qe @, ©, @ °lH
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@® 21 @32 ® 60 @ 96 ® 140

(x24+3x)(x2 +3x+2)-3=5(5+2)-3=32




16. 43 —dxy+y? +4x -2y & AFEISHAEY (2x - y) (Ax - By + C)
7} F9ek A+ B+ C 9] ghS Fatolg),

4x2 —dxy+y2 +4x -2y = (2x—y)* +2(2x - y)
=2x-y)(2x-y+2)

A=2 B=1,C=2
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=18-25=-7
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@ @16 ® 18 @20  ©2

B ,
(Bx—2y+42)(2x+ 2y — 42)

= {3x — (2y - 42)}{2x + (2y — 42)}

2y -4z = AR X|25HH

(B3x—A)(2x+ A)

= 6x% + Ax — A2

A =2y 4z2 tY45tHA

6x% + (2y — 4z)x — (2y — 42)?

= 6x2 + 2xy — 4xz — 4y? + 16yz — 1622

nxy, vz, B4 AL 72416+ (-4) =14




19. kg Aol A 364 & x 2 3fo] A BAL o] gstel Axstu?

364 x 366 — 728 — 363 x 365

O @ 2 ® 3 @ 4 ® 5

x(x+2)—2x—(x=1)(x+1)
=x2+2x-2x-x*+1
=1
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7420] Zolhxy+ 19 AXZIE] Wol7k a2 4 42 4 24y x—y-2
A o, o] ZAAAF ] Eo] dol=ax+bx+cOlth a+b+c Y
= oA L.
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> H e a+b4+c=6
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oA A2o] Aol x+y-20]|B2

Edo dolE2(x+y+ 1+ x+y-2) =4x+4y-2 °Jth.
2 a+ b+ c =6 °|h
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@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)
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(a-b+3)>%-(a+b+3)°
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{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)
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D+E+F o #& Fstof=t (2 A, B, C, D, E, F £ 7%°Ith)

> E

> ®™et: 17

16x* — 81yt = (4x% + 9y?)(2x + 3y)(2x — 3y) ©|B2 A+ B +
C+D+E+F=4+94+2+3+2-3=17°|ch




23. (r—2y-1)° S AMFEL W 2 I AFZ A, x 9 A
AL CE T, A+ B+ C O S Tl

cCh "
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(x-2y-1)(x-2y-1)
=x2-2xy—x—-2xy+4?+2y—x+2y+1
=x%—4xy+4y> -2x+4y+1

2 Y AFEL, x A AFe -2, 521 0t
wef A=1,B=-2,C=1°|th
LA+BLC=1-2+1=0
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L x-y=-5
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